Exam One

Multivariable Calculus
Monroe Community College
Summer 2008

Professor . Olles

Name: _ Scluhions

Yoﬁ must SHOW ALL WORK on this exam in order fo receive pmal credit for incorrect answers or any
credit for correct answers. Please indicate all answers clearly on this exam. This is a two hour long exam

worth 100 points.

1 Consider the points P(1,2,3), O(3,-4.1) and R(-1,-2,5)and let u = PQ
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z Find the set of parametric equation of the line through the following points.
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4, Find the equation of the sphere by completing the square. Then, state the
center and radius of the sphere.
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5. Find the component form of the vector u such that it is perpendicular to the
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6. Prove that u- (v+w)—u VEuew,
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Find the pmjecnon of u onto v where u = {4 -1, 5) v= (3 2 +?>
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Find the equation Qf the plane that passes through the points
P(-3,-4, z}ﬁ-ﬁ )¥1.1,-2).
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10.  Convert the following point from rectangular to spherical coordinates.

(242,-2v2.4)
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11.  Convert the following equation from rectangular to cylindrical coordinates.

¥ ~y2 = 2
X= vcosBs (%’ws&‘f“ (rsvne) = e
U=rsmi 2 .. o :
521 =2 Yiosfe —v ot @ = 2*

Y os20— S e) = 2~
2 eos0)= 27
2= z°sed?®)




12.  Consider the following vector valued function.
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a. Find the domain and state the intervals on which the vector valued
function is continuous.
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b. Find the magnitude of the vector valued function.
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¢. Find the limit of the functionas 1 — 27.
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d. Find the derivative of the vector valued function,
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e. Find the indefinite integral of the vector valued function.
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13 Find 5(!) given that ?’(r) :ﬁe”"g}:~e"’} +% and ;(O) = %}‘:— J+k.

Fry=(e*TCYT * (" %C.z_)'j 5[ res)k

.

gf lo) = (85'1' C;‘Y—{: ¥ (_€1 ’ + C.?)j A (Dﬂ“aé‘)n\z

=T + ity + aak
sz ¥ B S .V:h
> 563 \j R
\ {4 Cp= \ Sl \
\ Yo, 7= .
b Ea™ "5
C\m =







